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y,=¢" and y,=x.Are y, p, linearly independent? [88 "’«TJ‘J\"F:CT‘% TF 5%

. Which of the following sets of functions, each defined on x € R, are linear dependent?
(a) sinx, cosx (b) cos’x, sin’x, cos2x (c) 1,x,x° [93 ﬁ,ﬁﬂ?ﬁ—?&%ﬁ’?w%]

Show thatx, sinx and cosx are linear independent. [94 Hﬁ{%%ﬁ’? 14%]

. Find three linear independent solutions of y" +3y"—y'—3y =0. Justify that the solutions
are independent. [91 7t Fﬁ'?‘ﬁ%ﬁ’?ﬂﬁjﬂf 5%]

Show that the quantities 1, x, and x* are linearly independent. [87 F‘}J\ﬁﬁiﬁﬁ’? 10%])

PR R RS A (linear independent ) 7
(a) €, e, sinh(2x)

(88 7 5%]

(x) and u,(x) be two independent solutions of the differential equation
d’u(x)
dx’
denotes differentiation with respect to x. Take the normalization wuu, —u,u/ =1 and

!

+v(x)u(x)=0. Show that wu,—wu,u is a constant, where ' is the symbol
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w =u,/u, . Show that W——%(W—] =2v(x). [91 ’F,‘[EWJJ\?’JEEI’?I’?ZO%]






